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OR Annual Examination - 2019
I INYH & T IS W TR B BIed & a7 Uraan 2?2 IfS B.Com. Part - Il
PR A Pl ST dI 396 41 aRome 87 INCOME TAX
What are the provisions regarding deduction of tax at source under the
head 'salaries' ? What would be the consequences if tax is not deducted at _ M?X'Marks 75
Time : 3 Hrs. Min.Marks : 25

?
souree: Vil ¥ [k.M Ve nl viryikjh i*u g] felg gy djuk viuok; gA [k.M

‘cr e ykikjh ¢'u ,o [k.M M1* e nh?k mikjh ¢*u gA [k.M "* dk
Icl igy gy djA

Note : Section'A’, containing 10 very short-ansiygre questions, is compulsory
Section 'B' consists of short-answer-type questions and Section 'C'

consists of long-answer-type questions. Section 'A" has to be solved first.

Section - 'A'

futukfdr viry?dkjh ¢'uk d mikj ,d ;k nk olD;k e nA
Answerthe following very short-answertype questions in one otwo
sentences. (1x10=10)
T 1. FRETAT B aRMTST EIRTT |
Define the term 'Assessee’.
T 2. IR JAMFRA P GRT 10 S <1 QI B gad M fIRkay |

Give any two examples of income exempted under section 10 of income
tax act.
Ueq 3. ARSI W<l 4T 87
What is Entertainmetlowance?
e 4. HHG BT T 2°
What is Standard Rent?
U9 5. 9 & AR A T AT &7
What do you mean by speculative transaction?
T 6. QIEdIC Yol ARIRT AT &7
What is Long term Capit&lsset?
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QU FIXATRYT T 87

What is revocable transfer?

ST Golird 81 &1 gfd & oty fohaet &R MeriRor auf @b oMt

o ST ST |Adhar 87

Long term capital loss can be carried for ward to be set-off for how many
assessment years?

ardiere feagad &1 @ dew 8 Adhdl 87

Who an be a memberAppellateTribunal?

U39 10.39f¢ M &1 Red fFuiRd e d& gRad w1 fhar Sirar a1 9 W)

U 1.

TR 2.

IR 3.

fpa W <Rgd 981 fHar Srar a9 R fhaHr e o
SITQT?

If return of income is not field withen the specified limit, how much fee
shall be imposed on him?

Section - 'B'

fuEukfdr y?% mikjh; ¢'uk d mikj 150&200 “Kn Bhek e n
Answer the following shot-answertype questions with word

limit 150-200 (5x5=25)
Herg § AT AT PR ST A8 |

Explain in brief "Deemedssessee".

OR

S M RAT AR 57 FHY |

What isAgricultural Income? Explain.
Jerfee Tidise BUs a1 87 GHEST |
What is Statutory Provident Fund? Explain.

OR
RN RO HHANT DT <27 H UGgel dR AN 57 F9sey |
Is gratuity taxable for a government employee? Explain.

URM® T DI Heldl Fasmgy |
Explain the dedection of Preliminary Expenses.
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600000
HEWTS Wl 72000
AH™ &1 fa=mam e 80000
qH B IRET B o1y, forl T o7 IR =T far 30000
PNBH mafsr <1 wR <11 fAerr 54000

AT THIOIT WIfASUe %Us H S1U dad BT 10%
3fere™ AT T 10000 F 31U S §IHT GTferdl
R Wi fear |

I Ib gRT 20000 . ¥4 BT Fafdsear G
Wi feam |

You are required to compute the net tax liability or tax refundable,if any
from the following particulars of income of an assessee for the assessmen
year 2018-19:

Rs.
Salary 600000
D.A. 72000
Received Rent of Property 80000
Interest paid on loan taken for repair of property 30000
Interest received on time deposit with PNB 54000

He contributed to Recognized Provident Fund @

10% of his salary and paid Rs. 10000 as premium on

his life insurance

He paid medical insurance premium for self by policy

cheque Rs. 20000

T BRI B Did drS IMAl M TR BHTR B ABRI BT
U BIRTY |

Describe the powers of Central Board of Difeectes or Commissioner

of income tax.
P.T.O.
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OR

31 |4 2018 P FHIG B ATl Ay ¥ A Qw6 At e
o

7% HRHN gferfordt 25000
8% SINRT RIS a1 15000
9% TS Uic gic dIUs 20000
7% RPN 908 18000
6% facell TRAR a1 ufcpiferdt 15000
gH=IT TG @ H el o b 3000

I IRl R R ARG TSl DI WIS B B oY 60 .
BT BT YT BT | Jag IS g qIUS Pl A R & o1y
Y 0T TR AT 1200 5. TS & Gy |

3T ATl A M W E B ST B IO B

31st March 2018 consisted of the following :

7% Government Securities 25000
8%Agra Muncipal Bonds 15000
9% Mumbai PorTrust Bonds 20000
7% Govt Bonds 18000
6% Securities of a foreign Govt. 15000
Intersest Credited to sukanya Samriceld 3000

He paid Rs. 60 as commission for collecting the taxble interest on
securities and Rs. 1200 as interest on loan which he had taken for the
purpose of purchasing the Mumbai Houst Bond. Find out his income
from other sources.

@[ 3T DI OET B H BN BT Yl Tl graerE @
ARy |

Explain the provisions regarding set-off of losses while computing the
total income.

OR

T IR & AR WR AU Y BRI & Y& DR—alded Al
B ORI B TN, R RO 9§ 201819 B forw AR

U3 4.

YR 5.

TR 1.
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OR
JSIDHTAT Goll o™ DI FAASTSY |

Explain short-term capital gain.
gRT 80 SiI @I HEkil AR |
Explain the dedection U/S80 G .

OR
IR ST F gRT 80 W T 82 IO BIFIU |

What is section 80 C of the Income tax act? Describe.
T AE (items forRaw RS9 TR S W R o) AUE fhar S 2|
Mention the items on which tax is collected at source.

OR

A B < BT ST Y U~ BT 57 AT |
When does the liability to pay advance tax arise? Explain.

Section - 'C'

fuEukfdr nh mikjh; c¢"uk di mikj 300&350 *kn Bhek e ni
Answer the following long-answertype questions with word
limit 300-350 (8x5=40)

"IRIPR AT TR T AT BR 2 UIfqd TR o= arer del |” 39

DU Bl I HITY AR A e & Y A&ToT 918y |

"Income tax is a tax imposed on income, not on receipts”. Discuss the
statement and state main characteristics of income.

OR
Frifha aemell @ SR WR HY AR &I 0T DI

P.T.O.
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(1) 3FTS & AUR ¥ A (394 W DI B YA 4
JUSl TG, BT I W UK M 38000%. WHSA 8)  1,87,500
(2) o Brat & forg 4 o W fRRERE ¥

CISRENEI 18000
(3) PN IcuTee &I faehl 48000
(4) P A TR YRS DT I 6000
(5) faorel, Riwrs vd wa s1fies R o 10600
(6) IS, W Ud HY gargdl &1 6y 7500
(7) CaeR @I fovm (BN Hral & form) 2500
From the following information compute agriculture income :
Rs.

(1) Income from Grain business (including amount received
Rs. 38000 from wheat produced at own agriculture 8§00
(2) Lease rentreceived from land given to tenants for

agriculture operation 18000
(3) Sale of agriculture produce 48000
(4) Payment of Govt. land revenue on agricultue land 6000
(5) Expenses on powgerrigation and farm labour 10600
(6) Purchase of seeds, fertilisers and pesticides 7500
(7) Tractor hire chages (for agriculture operation) 2500

e 2. B IR 99 2018—2019 & forv 1. Hifer®d (S U ®Ul &1 HHAR
?) ® Id9 YD B BR AT 3T BT UM BT

) 9a9 5000 . UfT AIE

) HETS AT 3500 . Uf AT

) FHRSH AT 1000 . Ui A8

A E

IS 7400%.

) A & o Iy R @ 10% afe <% | 10000 .

) TR &fagfd w500 %. Uf AE

) Fafdear w1 1200 ®. Ui A8

3) D AT = I TP 91 BR HITerd qAT ol <1 wrat @ forg
T PR S I Fg e HRar 2 |

GRCRG)

—

) T Urfase wus H fRiadr &1 SfeE 7400 %, SHBI WH BI
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(@) e 7 99 WER A (SEIT 12 ofE) JfgAiSeld " Bl

gfaem & 2| fFaiaar s00 . uferg faRmr ofdr 8, qe & Sfud
e fH=TT 30000 . |

Compute taxable income under the head salary of\Mulik (an
employee of a company) for tAesessment year 2018-2019 :

(a) Salary Rs. 5000 p.m.

(b) D.A.Rs. 3000 p.m.

(c) Entertainmentllowance Rs. 1000p.m.

(d) Employer's contribution to recognized provident fund Rs. 7400 . His own

contribution was Rs. 7400.

(e) Interest @ 10% p.a. on credit balance of RecogniZzedfounted to

Rs. 10000.

(H City Compensatorillowance Rs. 500 p.m.
(9) MedicalAllowance Rs. 1200 p.m.
(h) He has been provided with a large car for both official and personal use

()

employer bears all expenses of the car

He is provided an unfurnished house by the employer in a city (population
12 lakh) . The fair rental value of the house is Rs. 30000 p.a. employer
charges Rs. 500 from him per month as rent.

OR

o TR & aiffe Jeu | Y FT 31 |qHSIA 27 W HhM B
i Jd 31Ty fhd YR FiRE BT S 1 av § fo big & fory
GTell 8T B |

What do you understand by the teknmual value of House Property?
How would you determine the annual value of a house property which
remained vacant for part of the previous year

. 41 @1 9318y / Explain the following :

Gofl St
CapitalAssets

e gl S
Short term Capitassets

P.T.O.



